

RESEARCH Open Access

How air pollution influences clinical management of respiratory diseases. A case-crossover study in Milan

Pierachille Santus^{4,7}, Antonio Russo², Enzo Madonini¹, Luigi Allegra³, Francesco Blasi³, Stefano Centanni⁴, Antonio Miadonna⁵, Gianfranco Schiraldi⁶ and Sandro Amaducci^{1*}

Abstract

Background: Environmental pollution is a known risk factor for multiple diseases and furthermore increases rate of hospitalisations. We investigated the correlation between emergency room admissions (ERAs) of the general population for respiratory diseases and the environmental pollutant levels in Milan, a metropolis in northern Italy.

Methods: We collected data from 45770 ERAs for respiratory diseases. A time-stratified case-crossover design was used to investigate the association between air pollution levels and ERAs for acute respiratory conditions. The effects of air pollutants were investigated at lag 0 to lag 5, lag 0–2 and lag 3–5 in both single and multi-pollutant models, adjusted for daily weather variables.

Results: An increase in ozone (O_3) levels at lag 3–5 was associated with a 78% increase in the number of ERAs for asthma, especially during the warm season. Exposure to carbon monoxide (CO) proved to be a risk factor for pneumonia at lag 0–2 and in the warm season increased the risk of ERA by 66%. A significant association was found between ERAs for COPD exacerbation and levels of sulphur dioxide (SO_2), CO, nitrate dioxide (SO_2), and particulate matter (SO_2). The multipollutant model that includes all pollutants showed a significant association between CO (26%) and ERA for upper respiratory tract diseases at lag 0–2. For chronic obstructive pulmonary disease (COPD) exacerbations, only CO (OR 1.19) showed a significant association.

Conclusions: Exposure to environmental pollution, even at typical low levels, can increase the risk of ERA for acute respiratory diseases and exacerbation of obstructive lung diseases in the general population.

Keywords: Air pollution, COPD, Asthma, Emergency admissions, Public health

Background

Today, in industrialized countries as in the low and middle income ones, the association of respiratory diseases and environmental pollution represents a relevant social and health problem. Various studies have been performed to evaluate the effects of air pollution on health status demonstrating that not only West Europe and North America are involved in this problem but also developing countries [1-3]. However, further investigation, in the form of both human and animal studies, as well as in vitro, needs to be performed to fully

comprehend the relationship between air pollution and human morbidity and mortality. Several experiences have demonstrated the adverse health effects of environmental pollution [4] particularly concerning respiratory [5] and cardio-vascular diseases [6]. Special attention will be focused on the respiratory system which is the first point of contact with air pollutants in humans. Seaton et al. [7] proposed that inhaled air pollutants induce alveolar inflammation with activation of cellular and molecular chain mechanisms promoting lung disease exacerbations. The level of environmental pollution has a role in human health as well as temporal exposure. The differences in pollutant exposure between single individuals is another interesting point and probably subjects at risk, such as people with asthma and other

¹Dipartimento Cardio-Respiratorio, Unità Operativa di Pneumologia, San Carlo Borromeo Hospital, Via Pio II, 3, 20153 Milan, Italy Full list of author information is available at the end of the article



^{*} Correspondence: amaducci.sandro@sancarlo.mi.it

chronic respiratory diseases, may be more likely affected by particulate pollution if they live or work close to busy roads or other sources of air pollution [8]. Furthermore, some high-risk groups have been identified, such as children, [9] and elderly people [10]. Acute effects studies have found significant correlation between concentrations of particulate matter with an aerodynamic diameter \leq 10 or 2.5 micron (PM₁₀ and PM_{2.5}), NO₂, SO₂, and disease exacerbations, emergency admissions, hospitalizations and mortality [5]. The main sources of exposure in the general population are combustion processes, traffic, automobile service stations, gasoline transfer, exhaust fumes from motor vehicles, and industrial emissions [11]. The association between acute or prolonged effect of particulate air pollution and emergency room visits or hospital admission for respiratory conditions and asthma represent, even today, an important question. In fact, many previous experiences have reported that pollutants promote health problems in different countries thus including Italian cites as well [12-17]. Indeed, every country and city has their geographical, socio-political and health regulations, so performing large number of studies may offer the possibility to better understand the global problem of air pollution. Thus, the aim of our study was to investigate the correlation between ERA for respiratory diseases in the general population and the environmental pollutant levels in Milan, the largest metropolis of northern Italy.

Methods

Study population

This study (named POEMI: *POllution and Emergencies in Mllan*) was carried out in the Emergency Departments (EDs) of the main five city hospitals in Milan, Italy. These five hospitals covered about 80% of the total number of ERAs in Milan. Patients were included in the study carried out between January 1, 2007 and December 31st, 2008 if they were upper respiratory tract infections (URTI), acute asthma, pneumonia or exacerbation of chronic obstructive pulmonary disease (COPD). An MD reviewed the ED records and recorded admission date, age, gender, race, postal code, ED diagnosis and outcome (either discharge or death) for each patient.

The study was firstly approved by the central ethics committee and then by the other individual research ethics boards.

Data on air pollution exposure

Outdoor air pollution levels within the city of Milan are measured by eight air quality monitoring stations managed by the Regional Environmental Protection Agency (ARPA). At the time of this study, the number of city stations for monitoring nitrogen oxides (NO, NO₂,

 NO_X) were eight, for CO five, O_3 and PM_{10} three, benzene, toluene and xylenes two, and SO_2 and $PM_{2.5}$ one.

The methods and technologies used to measure air concentrations are designated at national and international level (i.e., UV fluorescence for SO₂, chemiluminescence for NO_X, UV photometry for O₃, IR photometry for CO etc.). As for particulate matter, PM₁₀ and PM_{2.5} are currently obtained using beta-ray attenuation monitors and corrected TEOM (Tapered Element Oscillating Microbalance). The ARPA has determined correction factors for particulate matter levels based on gravimetric and TEOM measure comparison. The parallel geometric instruments have been placed in different sites and for different period during the year; the correction factors have been verified retrospectively and subsequently applied.

Five monitoring stations are classified as "traffic" sites (typically CO and benzene stations) and are located mostly along main streets or squares in Milan. Three stations are "urban background" sites, dedicated to the measurement of SO_2 and $PM_{2.5}$ and are situated in urban areas far from major streets. One of them is located inside a large urban park. PM_{10} is measured at two traffic stations and one urban background station. Nitrogen oxides are measured at all of the stations.

None of the stations is classified as "industrial" because industrial sources are not significant sources of pollution in the city of Milan. Automobiles and domestic heating plants are the main sources of atmospheric emissions in Milan.

Pollutant concentrations measured hourly by the regional monitoring network have been aggregated by day according to the specific air quality standards required by European laws. For example, the average concentration of SO_2 , particulate matter and benzene over 24-hours was measured, whereas the maximum hourly concentrations were considered for O_3 and NO_2 etc. Finally, registered daily values of each air pollutant were from all the stations, in order to obtain their average level and to assess the global environmental situation of the city. Temperature and humidity levels were derived from the archive of the regional meteorological service and they refer to data measured at "urban" stations in the city.

To obtain a complete dataset over the study period, a few missing values were estimated with the assumption of a constant (i.e., not time-dependent) proportional relationship between the mean values measured by each monitoring station. The number of missing values is very small. In the study period (2 years) there are no missing observations for NO₂, CO, O₃, and PM10. The days with missing values were 34 for SO₂, 48 for PM_{2,5} and 40 for C_6H_6 , C_7H_8 , C_8H_{10} . These data were estimated by ARPA based on the trend of concentrations detected by monitoring stations not belonging to the

Municipality of Milan, but as much as possible next to it and positioned in locations similar to the urban environment of Milan.

Design and statistical analysis

We used a case-crossover design [18] to assess the risk of ERA for acute conditions based on exposure to various pollutants. The case-crossover design controls for longterm trends and seasonal changes. We used the timestratified approach [19] to select control days. Thus, every seventh day from the event day within the same month and year of the event day was considered a control. This approach desumes seasons by matching months and year. It also partly controls other variables, such as weather, because all comparisons are made within the same month and on the same day of the week. The event day is termed lag 0, and the day before the event day is lag 1. The day before lag 1 is lag 2, and so forth. To assess the excess risk of ERA based on several potential predictors and to control confounding factors, conditional regression models were fitted using odds ratio (OR) and corresponding 95% confidence intervals (95% CI). All models included daily weather variables (including temperature, temperature squared, and humidity on lag 1). To assess pollution exposure, same-day average exposures and lagged intervals extending from 1 to 5 days before the case or control event were obtained. Additionally we averaged levels from lag 0 to lag 2 to explore an early effect. Stratified analyses of exposure based on the average exposure at lag 0 to lag 2 based on age, class, gender, race and season was undertaken to evaluate effect modification. The results of the analyses were expressed as an OR to quantify the increase in risk based on a corresponding increased exposure of 10 µg/m³ of NO₂, PM₁₀, and PM_{2.5}, $5 \mu g/m^3$ of SO₂ and $1 \mu g/m^3$ of CO. For benzene (C₆H₆), toluene (C₇H₈), and xylene (C₈H₁₀), an interquartile range was measured based on the daily mean levels of each air pollutant over the entire study period. To explore cumulative exposure we constructed dummy variables that assumes the value of 1 when the levels for each pollutant at lag 3–5 were larger than the value of the interquartile range (Table 1).

Multi-pollutant models were fitted for each specific disease, using the mean values from lag 0–2 for all statistically significant pollutants from the univariate analyses.

Results

Study subjects and pollutants data

During the two-year study period, 45770 ERAs were recorded. The demographic and clinical characteristics

Table 1 (A) Daily environmental variables; and (B) Spearman correlation coefficients for these variables

	Warr	n season	Cold se	eason	То	tal		Percentiles	i	
	(April-S	September)	(October	-March)						
A.	Mean	SD	Mean	SD	Mean	SD	25th	50th	75th	IQR
C ₆ H ₆	1.41	0.72	3.99	2.06	2.70	2.01	1.18	2.05	3.78	2.60
C ₉ H ₆ N ₂ O ₂	5.23	3.36	12.51	7.84	8.87	7.04	3.90	6.83	11.86	7.96
C ₈ H ₁₀	2.35	1.85	6.44	4.84	4.39	4.19	1.62	3.09	5.86	4.24
PM ₁₀	31.08	11.96	63.13	33.17	47.08	29.62	26.92	37.00	60.15	33.23
PM _{2.5}	16.20	9.70	49.44	28.35	32.80	26.92	13.00	22.00	47.00	34.00
SO ₂	3.75	2.69	4.51	4.25	4.13	3.57	1.04	3.61	6.00	4.96
NO ₂	89.47	28.01	115.79	34.23	102.62	33.91	79.71	99.43	121.71	42.00
со	1.03	0.27	1.95	0.60	1.49	0.65	1.00	1.33	1.86	0.86
O ₃	109.42	33.69	39.05	24.70	74.29	45.95	32.67	68.50	111.67	79.00
B.	C ₆ H ₆	C ₉ H ₆ N ₂ O ₂	C ₈ H ₁₀	PM ₁₀	PM _{2.5}	SO ₂	NO ₂	со	O ₃	
			WARM	1 SEASON (A _l	oril-Septemb	er)				
C ₆ H ₆	1.00	0.88	0.87	0.49	0.43	-0.13	0.61	0.49	0.11	
C ₉ H ₆ N ₂ O ₂	0.88	1.00	0.84	0.44	0.40	0.01	0.58	0.47	0.06	
C ₈ H ₁₀	0.78	0.90	1.00	0.45	0.40	-0.01	0.65	0.57	0.00	
PM ₁₀	0.77	0.67	0.58	1.00	0.75	-0.08	0.52	0.52	0.21	
PM _{2.5}	0.76	0.63	0.54	0.96	1.00	-0.17	0.51	0.54	-0.01	
SO ₂	0.51	0.35	0.30	0.46	0.44	1.00	-0.20	-0.20	0.17	
NO ₂	0.67	0.70	0.64	0.54	0.48	0.30	1.00	0.67	0.12	
СО	0.78	0.69	0.61	0.60	0.60	0.34	0.59	1.00	-0.18	
O ₃	-0.44	-0.27	-0.24	-0.39	-0.46	-0.33	0.07	-0.41	1.00	
			COLI	SEASON (O	ctober-Marcl	n)				

of this study population are shown in (Table 2). The number of total ERAs was comparable between the two study years, but higher rates of ERAs were observed during the cold season (61.3% of admissions occurred from October to March).

URTI were responsible for the largest number of ERAs (75.7%), mainly due to the high proportion of children up to 19 years of age in this study. Pneumonia, asthma and COPD exacerbation accounted for 12.4%, 7.9% and 4.0% of ERAs, respectively. The 45770 total ERAs resulted in 8569 hospital admissions. Summary statistics for air pollutants and Spearman correlation coefficients are included in Table 1. Daily NO2 and SO2 levels were higher during the winter season, as opposed to the warmer period of the year, even if the difference between the two was lower than for other pollutants. However, an increase in the daily levels of polycyclic aromatic hydrocarbons (C_6H_6 , C_7H_{10} , C_8H_{10}), PM_{10} , $PM_{2.5}$ and CO occurred in the cold season, and an increase in O₃ levels occurred in the warm season. There was a high correlation among several pollutants; in particular,

benzene, other polycyclic aromatic hydrocarbons and NO_2 were highly correlated in the warm season, and PM_{10} , $PM_{2.5}$, CO and NO_2 were highly correlated in the cool season and inversely related to O_3 levels.

Upper respiratory tract infections

The results of the single-day lags are illustrated in (Table 3). Increases in all the pollutants were significantly correlated with ERAs, with the exception of ozone. Single pollutant models exploring the association between pollution levels at lag 3 to lag 5 and ERAs demonstrate an increase in risk of ERAs from 3% to 10% per one interquartile increase in pollutant concentration (Table 3).

The effects of the pollutants in the subgroups were similar. However, a seasonal effect emerged. Increases in ozone correlated with increases in URTI in the warm season. On the other hand, PM_{10} and $PM_{2.5}$ were only associated with increased risk for ERA for URTI in the cold season. In a multipollutant model using the lag 0–2 structure for all pollutants associated with URTI in the single pollutant model, only CO (OR 1.261; 95% CI 1.199-1.327)

Table 2 Distribution of daily ERAs for acute respiratory diseases according to several characteristics

Variable	Asthma	URTI	Pneumonia	COPD exacerbation	Total
Age class					
0-4	821	17971	832	-	19624
5-19	601	7660	513	-	8774
20-34	718	2901	384	-	4003
35-54	899	2552	760	108	4319
55-65	172	744	442	185	1543
65-74	161	1054	763	437	2415
75+	197	1805	1995	1095	5092
Gender					
Males	1918	18784	3125	1033	24860
Females	1651	15903	2564	792	20910
Race					
Black	312	1401	136	30	1879
Asian	134	967	110	4	1215
Caucasian	2377	29617	4963	1635	38592
Hispanic	222	1570	145	4	1941
Unknown	524	1132	335	152	2143
Hospitalization					
No	2978	31923	1801	499	37201
Yes	591	2764	3888	1326	8569
Year					
2007	1936	17212	2917	960	23025
2008	1633	17475	2772	865	22745
Season					
Warm	2049	12908	2087	666	17710
Cool	1520	21779	3602	1159	28060
Total	3569	34687	5689	1825	45770

Table 3 Association of ERAs and upper respiratory tract infections

(A)	lag 0	lag 1	lag 2	lag 3	lag 4	lag 5	lag 0-2	↑ 3 of 5 days
SO ₂ (5 μg/m³)	1.010 (0.989-1.031)	1.056 (1.035-1.077)	1.072 (1.052-1.093)	1.104 (1.083-1.124)	1.096 (1.076-1.117)	1.076 (1.056-1.096)	1.076 (1.049-1.103)	1.098 (1.061-1.137)
CO (1 mg/m³)	1.101 (1.073-1.129)	1.144 (1.116-1.172)	1.124 (1.096-1.152)	1.144 (1.115-1.172)	1.143 (1.114-1.172)	1.122 (1.093-1.152)	1.174 (1.140-1.209)	0.987 (0.952-1.023)
NO_2 (10 µg/m ³)	0.999 (0.995-1.003)	1.012 (1.008-1.016)	1.013 (1.009-1.016)	1.016 (1.012-1.020)	1.017 (1.013-1.021)	1.009 (1.005-1.013)	1.012 (1.007-1.017)	1.059 (1.029-1.089)
$O_3 (10 \mu g/m^3)$	0.999 (0.993-1.006)	0.999 (0.992-1.006)	0.992 (0.986-0.999)	0.986 (0.980-0.991)	0.989 (0.983-0.994)	0.983 (0.978-0.989)	0.994 (0.985-1.003)	1.060 (1.009-1.113)
PM ₁₀ (10 μg/m³)	1.019 (1.014-1.024)	1.022 (1.017-1.026)	1.019 (1.014-1.024)	1.019 (1.014-1.024)	1.020 (1.016-1.025)	1.022 (1.017-1.027)	1.029 (1.024-1.035)	1.075 (1.038-1.113)
PM _{2.5} (10 μg/m³)	1.018 (1.013-1.024)	1.019 (1.013-1.024)	1.016 (1.011-1.022)	1.020 (1.014-1.025)	1.024 (1.019-1.030)	1.027 (1.022-1.033)	1.026 (1.019-1.033)	1.028 (0.995-1.062)
C ₆ H ₆ (2.6 mg/m³)	1.020 (1.001-1.041)	1.063 (1.043-1.083)	1.062 (1.042-1.083)	1.074 (1.054-1.095)	1.085 (1.064-1.107)	1.081 (1.060-1.103)	1.076 (1.050-1.102)	1.051 (1.013-1.090)
C_7H_8 (7.96 mg/m ³)	0.975 (0.958 (0.991)	1.027 (1.011-1.045)	1.025 (1.008-1.042)	1.043 (1.026-1.060)	1.050 (1.033-1.068)	1.036 (1.019-1.054)	1.015 (0.994-1.037)	1.030 (0.993-1.068)
C ₈ H ₁₀ (4.24 mg/m³)	0.983 (0.969 (0.998)	1.018 (1.004-1.033)	1.023 (1.008-1.038)	1.024 (1.009-1.038)	1.023 (1.008-1.038)	1.011 (0.996-1.026)	1.015 (0.995-1.035)	1.005 (0.974-1.037)
(B)	Age o	group	Ger	nder	Ra	ice	Seas	son
	≤16	≥65	Males	Females	Caucasian	Others	Warm	Cold

(B)	3) Age group		Ger	Gender		ice	Season		
	≤16	≥65	Males	Females	Caucasian	Others	Warm	Cold	
SO_2 (5 $\mu g/m^3$)	1.074 (1.044-1.106)	1.085 (0.990-1.189)	1.076 (1.040-1.113)	1.075 (1.036-1.116)	1.067 (1.039-1.097)	1.125 (1.054-1.201)	0.873 (0.815-0.936)	1.118 (1.088-1.149)	
CO (1 mg/m³)	1.187 (1.148-1.227)	1.112 (0.995-1.243)	1.192 (1.146-1.240)	1.153 (1.104-1.204)	1.179 (1.142-1.216)	1.148 (1.063-1.239)	0.885 (0.785-0.997)	1.203 (1.166-1.241)	
NO_2 (10 µg/m ³)	1.016 (1.010-1.022)	0.999 (0.980-1.017)	1.011 (1.004-1.018)	1.013 (1.005-1.020)	1.013 (1.008-1.019)	1.004 (0.991-1.017)	0.983 (0.972-0.995)	1.020 (1.014-1.025)	
O ₃ (10 μg/m ³)	0.989 (0.979-1.000)	0.998 (0.967-1.029)	0.994 (0.982-1.007)	0.993 (0.980-1.007)	0.997 (0.987-1.006)	0.978 (0.955-1.002)	1.022 (1.009-1.035)	0.965 (0.952 (0.977)	
PM ₁₀ (10 μg/m³)	1.031 (1.024-1.038)	1.013 (0.992-1.035)	1.029 (1.021-1.037)	1.030 (1.022-1.039)	1.027 (1.021-1.034)	1.041 (1.025-1.058)	1.028 (0.999-1.058)	1.029 (1.023-1.035)	
PM _{2.5} (10 μg/m ³)	1.028 (1.020-1.036)	1.004 (0.980-1.028)	1.028 (1.018-1.037)	1.024 (1.015-1.034)	1.025 (1.018-1.032)	1.030 (1.012-1.048)	0.997 (0.965-1.030)	1.026 (1.020-1.033)	
C_6H_6 (2.6 mg/m ³)	1.094 (1.064-1.124)	1.016 (0.928-1.113)	1.079 (1.045-1.115)	1.072 (1.035-1.111)	1.073 (1.045-1.101)	1.091 (1.025-1.162)	1.099 (0.979-1.234)	1.077 (1.050-1.104)	
C ₇ H ₈ (7.96 mg/m³)	1.030 (1.005-1.056)	0.953 (0.880-1.033)	1.013 (0.984-1.043)	1.018 (0.986-1.050)	1.019 (0.996-1.043)	0.986 (0.932-1.044)	0.904 (0.840-0.973)	1.028 (1.005-1.052)	
C ₈ H ₁₀ (4.24 mg/m ³)	1.022 (1.000-1.045)	0.976 (0.908-1.050)	1.014 (0.987-1.041)	1.015 (0.986-1.045)	1.016 (0.995-1.038)	0.998 (0.947-1.051)	0.880 (0.810-0.955)	1.024 (1.003-1.045)	

KEY: Results are expressed as Odds Ratio (OR) and corresponding 95% confidence intervals (95% CI) with (A) various pollutants at various lags and (B) in various subgroups at lag 0–2 from conditional logistic regression analysis including terms for daily weather variables (1-day lag for temperature, humidity and temperature squared).

and PM_{10} (OR 1.02; 95% CI 1.014-1.032) retained statistically significant association with URTI ERAs.

Asthma

Adjusted odd ratios for ERAs for asthma due to increases in pollution are displayed in (Table 4). Increases in ozone levels from lag 1 to lag 5 corresponded to increases in ERAs for asthma.

The effect was strongest among non-Caucasian subjects (OR 1.162; 95% CI 1.110-1.217) and during the warm season (OR 1.104; 95% CI 1.068-1.142). CO appeared to be higher during the warm season and increased risk of asthma attacks with ERA (47%) in the elderly population. Almost no significant gender difference was found between asthma and ERAs. Only PM_{10} could influence asthma attacks in Caucasian subjects, however with a very little risk (OR 1.027; 95% CI 1.003-1.053).

Pneumonia

Table 5 shows the case-crossover analysis results for pneumonia ERAs. Reported data underline an acute effect of CO, SO_2 and PM_{10} on ERAs for pneumonia particularly evident at lag 0 and 1. Moreover, CO increases risk of ERA at lag 0–2, highlighting also a cumulative effect (OR 1.108; 95% CI 1.028-1.194). Stratified analysis for lag 0–2 days showed a 66% risk increase for ERAs for pneumonia in the warm season. A significant ERA increase can be found in the Caucasian female population with over 65 years of age. The young female population seems to have ERAs for pneumonia during the cold season with a risk of 16% every 5 μ g/m³ increase of SO_2 . PM_{10} and $PM_{2.5}$ could represent a risk factor for pneumonia ERA in warm season with an increased risk of respectively 8 and 10%.

COPD exacerbation

A significant association was found between ERAs for COPD exacerbation and increases in SO_2 , CO and PM_{10} on previous days when measured as linear effect (Table 6). Analysis of lag 0–2 shows an increase in ERA for COPD exacerbation of 3%, 14% and 24% for increases in PM_{10} , SO_2 , and CO, respectively. An increase of one interquartile of PM_{10} for 3 days in a period of 5 days prior to the event produced an increased risk of ERA of 21%. There was a 3-fold increased risk of ERA (OR 3.124; 95% CI 1.845-5.289) among non-White populations with corresponding increases in CO.

The multipollutant model of CO, NO_2 and PM_{10} using lag 0–2 average values showed a significant effect of CO increases on ERAs for COPD with an OR of 1.193 (95% CI 1.035-1.375).

Discussion

Our study prospectively analysed the impact of air pollution on ERAs for lung disease among the general

population of Milan. The results identified a positive association between ERAs for respiratory diseases and ambient exposure to pollutants such as PM_{10} , O_3 , CO and SO_2 .

Climatic considerations

Recently, concern on the effects of meteorological factors, such as weather and temperature, on population health has increased. Some studies [11,16] have shown that mortality rate from respiratory diseases has a direct correlation to air temperature increase, even if the mortality-temperature relationship has generally a Ushape, pointing out the issue of the extremes of temperature. For this reason, we reported the seasonal variation of pollutants during the cold and the warm periods. As reported in the literature, O_3 is one of the most important atmospheric gases involved in photochemical reactions [17]. O₃ levels were higher in the warm months in our study, a finding that is in line with scientific evidence that this atmospheric gas is usually dominant during the summer season [20]. On the other side, the most important source of CO in the Mediterranean areas is the incomplete combustion from cars and trucks, especially from gasoline engines operating at low speeds and during winter [21]. This data has been confirmed in our study too, as CO levels increased in the winter months (Table 1). As is already well known, atmospheric chemistry transport model simulations suggest that summer time O₃ levels are greatly enhanced throughout the entire Mediterranean troposphere, contributing substantially to the radiative forcing of climate [22]. As reported in Table 1, there was a high correlation among several pollutants; in particular, benzene, other polycyclic aromatic hydrocarbons and NO2 were highly correlated in the warm season. O₃ in the troposphere, is a product of photochemical reactions that involve primary pollutants, such as oxides of nitrogen (NOx), CO and volatile organic compounds from industrial and traffic emission [20]. Hence, the O₃ high level and reactivity, justified besides its presence also the increase of other pollutants. The PM₁₀, PM_{2.5}, CO and NO₂ correlation underline an environmental situation characteristically present during the cool season and justified the inverse correlation between these pollutants and O_3 levels.

Clinical implications

It is also important to consider the impact of environmental air on health. Increases in ERAs due to URTI have certain socioeconomic repercussions. In fact, our data from single-pollutant models showed that increases of CO, SO_2 , PM_{10} and $PM_{2.5}$ increase URTI ERA by 17%, 7%, 3% and 2.6%, respectively. This finding is in line with a previous paper published by Jaakkola et al. who found a significant association between upper

Table 4 Association of ERAs and asthma

(A)	lag 0	lag 1	lag 2	lag 3	lag 4	lag 5	lag 0-2	↑ 3 of 5 days
SO ₂ (5 μg/m³)	0.975 (0.904-1.052)	0.976 (0.906-1.053)	1.059 (0.986-1.137)	1.041 (0.970-1.117)	1.050 (0.980-1.125)	1.021 (0.952-1.094)	1.008 (0.919-1.106)	0.970 (0.852-1.104)
CO (1 mg/m³)	1.032 (0.938-1.134)	1.030 (0.938-1.132)	1.003 (0.912-1.104)	1.041 (0.945-1.147)	1.114 (1.011-1.226)	1.142 (1.037-1.257)	1.031 (0.921-1.154)	1.063 (0.932-1.211)
NO ₂ (10 μg/m³)	0.968 (0.954-0.981)	0.972 (0.958-0.986)	0.997 (0.983-1.011)	1.013 (0.999-1.027)	1.034 (1.021-1.048)	1.023 (1.009-1.037)	0.967 (0.951-0.985)	0.980 (0.896-1.071)
O ₃ (10 μg/m³)	1.010 (0.991-1.029)	1.052 (1.029-1.076)	1.052 (1.033-1.072)	1.061 (1.043-1.078)	1.044 (1.028-1.060)	1.039 (1.024-1.055)	1.068 (1.040-1.097)	1.781 (1.584-2.002)
PM ₁₀ (10 μg/m³)	0.998 (0.981-1.016)	1.005 (0.987-1.024)	1.014 (0.996-1.033)	1.020 (1.002-1.038)	1.015 (0.997-1.032)	1.014 (0.996-1.031)	1.009 (0.987-1.031)	1.044 (0.919-1.186)
PM _{2.5} (10 μg/m³)	0.993 (0.973-1.014)	0.991 (0.970-1.011)	1.000 (0.980-1.021)	1.003 (0.983-1.023)	1.001 (0.981-1.021)	1.011 (0.991-1.031)	0.992 (0.967-1.017)	1.076 (0.954-1.213)
C_6H_6 (2.6 mg/m³)	0.941 (0.873-1.014)	0.920 (0.854-0.992)	0.949 (0.881-1.023)	0.980 (0.910-1.056)	1.034 (0.957-1.117)	1.025 (0.949-1.108)	0.905 (0.825-0.992)	0.955 (0.835-1.093))
C_7H_8 (7.96 mg/m ³)	0.947 (0.891-1.006)	0.947 (0.890-1.006)	0.965 (0.908-1.026)	0.981 (0.923-1.044)	1.036 (0.974-1.102)	1.023 (0.961-1.090)	0.924 (0.855 (0.999	1.044 (0.912-1.196)
C ₈ H ₁₀ (4.24 mg/m ³)	0.926 (0.878 (0.977)	0.934 (0.886 (0.986)	0.953 (0.902-1.005)	0.983 (0.932-1.037)	1.016 (0.964-1.071)	1.001 (0.950-1.055)	0.894 (0.833 (0.959	0.942 (0.850-1.043)
(B)	Age	group	Ger	nder	R	ace	Sea	son
	≤16	≥65	Males	Females	Caucasian	Others	Warm	Cold
SO_2 (5 µg/ m^3)	0.975 (0.850-1.117)	1.099 (0.846-1.428)	0.901 (0.792-1.025)	1.135 (0.993-1.297)	1.020 (0.917-1.133)	0.964 (0.795-1.170)	0.986 (0.815-1.194)	1.028 (0.923-1.144)
CO (1 mg/m³)	1.059 (0.901-1.243)	1.472 (1.048- 2.067)	1.082 (0.921-1.271)	0.985 (0.841-1.155)	1.127 (0.993-1.278)	0.724 (0.559- 0.937)	1.179 (0.869-1.599)	1.011 (0.890-1.148)
NO ₂ (10 μg/m³)	1.001 (0.975-1.027)	1.008 (0.957-1.063)	0.980 (0.957-1.004)	0.954 (0.930 -0.978)	0.993 (0.973-1.014)	0.910 (0.881-0.940)	0.943 (0.918-0.970)	0.993 (0.970-1.016)
O_3 (10 µg/m ³)	1.021 (0.977-1.067)	1.034 (0.944-1.133)	1.062 (1.024-1.100)	1.077 (1.034-1.121)	1.022 (0.989-1.056)	1.162 (1.110-1.217)	1.104 (1.068-1.142)	1.005 (0.959-1.053)

 O_3 (10 µg/m²) 1.162 (1.110-1.217) 1.104 (1.068-1.142) PM_{10} (10 $\mu g/m^3$) 0.996 (0.964-1.029) 1.030 (0.964-1.101) 0.999 (0.969-1.031) 1.019 (0.988-1.051) 1.027 (1.003-1.053) 0.933 (0.887-0.983) 0.959 (0.893-1.030) 1.009 (0.985-1.033) PM_{25} (10 µg/m³) 0.983 (0.948-1.020) 1.033 (0.956-1.117) 0.983 (0.949-1.018) 1.002 (0.967-1.038) 1.021 (0.993-1.050) 0.882 (0.833-0.935) 0.846 (0.783- 0.913) 1.006 (0.979-1.033) C_6H_6 (2.6 mg/m³) 0.948 (0.831-1.081) 1.098 (0.832-1.447) 0.931 (0.816-1.061) 0.884 (0.775-1.007) 1.035 (0.936-1.145) 0.504 (0.401-0.633) 0.462 (0.344- 0.619) 1.005 (0.911-1.108) C_7H_8 (7.96 mg/m³) 0.975 (0.870-1.092) 1.241 (0.994-1.549) 0.952 (0.854-1.062) 0.897 (0.802-1.004) 0.976 (0.894-1.066) 0.777 (0.654-0.925) 0.813 (0.679- 0.973) 0.979 (0.895-1.071) 0.904 (0.818- 0.998) C_8H_{10} (4.24 mg/m³) 0.973 (0.881-1.074) 1.128 (0.914-1.393) 0.885 (0.801- 0.978) 0.982 (0.909-1.061) 0.618 (0.523-0.731) 0.591 (0.491-0.712) 0.982 (0.907-1.062)

KEY: Results are expressed as Odds Ratio (OR) and corresponding 95% confidence intervals (95% CI) with (A) various pollutants at various lags and (B) in various subgroups at lag 0–2 from conditional logistic regression analysis including terms for daily weather variables (1-day lag for temperature, humidity and temperature squared). Models for asthma included terms for total pollen levels as tertiles.

Table 5 Association of ERAs and pneumonia

(A)	lag 0	lag 1	lag 2	lag 3	lag 4	lag 5	lag 0-2	↑ 3 of 5 days
SO ₂ (5 μg/m³)	1.010 (0.960-1.062)	1.056 (1.004-1.110)	1.041 (0.991-1.094)	1.012 (0.965-1.061)	0.998 (0.952-1.046)	1.018 (0.971-1.067)	1.058 (0.993-1.128)	1.043 (0.955-1.139)
CO (1 mg/m³)	1.108 (1.039-1.180)	1.065 (1.000-1.134)	1.055 (0.992-1.122)	1.064 (0.999-1.132)	1.047 (0.982-1.117)	1.047 (0.983-1.115)	1.108 (1.028-1.194)	0.947 (0.869-1.033)
NO ₂ (10 μg/m³)	1.009 (0.999-1.019)	1.002 (0.992-1.013)	1.002 (0.992-1.013)	1.007 (0.998-1.017)	1.002 (0.992-1.012)	0.999 (0.989-1.009)	1.007 (0.994-1.020)	1.007 (0.940-1.079)
O ₃ (10 μg/m³)	1.003 (0.988-1.019)	0.999 (0.980-1.017)	0.992 (0.977-1.008)	0.993 (0.979-1.007)	0.985 (0.972-0.999)	0.984 (0.970-0.997)	0.997 (0.974-1.019)	0.910 (0.805-1.029)
PM ₁₀ (10 μg/m³)	1.013 (1.001-1.025)	1.002 (0.990-1.014)	1.009 (0.997-1.021)	1.015 (1.003-1.027)	1.009 (0.997-1.020)	1.013 (1.001-1.024)	1.011 (0.997-1.026)	1.071 (0.985-1.165)
PM _{2.5} (10 μg/m³)	1.007 (0.994-1.021)	1.000 (0.987-1.014)	1.006 (0.993-1.020)	1.011 (0.997-1.024)	1.010 (0.997-1.023)	1.014 (1.001-1.027)	1.007 (0.990-1.023)	1.009 (0.932-1.093)
C_6H_6 (2.6 mg/m ³)	1.023 (0.973-1.074)	0.975 (0.927-1.025)	1.005 (0.957-1.056)	1.017 (0.969-1.067)	0.994 (0.945-1.045)	1.027 (0.977-1.078)	1.001 (0.941-1.065)	0.953 (0.873-1.041)
C ₇ H ₈ (7.96 mg/m³)	1.018 (0.976-1.062)	0.980 (0.939-1.023)	0.998 (0.957-1.040)	1.009 (0.968-1.052)	0.988 (0.947-1.031)	0.990 (0.950-1.033)	0.998 (0.945-1.054)	0.964 (0.884-1.052)
C_8H_{10} (4.24 mg/m ³)	1.017 (0.980-1.056)	0.971 (0.935-1.009)	0.989 (0.953-1.026)	0.987 (0.951-1.024)	0.967 (0.932-1.003)	0.989 (0.953-1.026)	0.987 (0.939-1.038)	1.003 (0.929-1.082)
(B)	Age	group	Ger	nder	Ra	ace	Seas	son
	≤16	≥65	Males	Females	Caucasian	Others	Warm	Cold
SO_2 (5 µg/ m^3)	1.165 (1.033-1.314)	1.043 (0.947-1.149)	1.004 (0.920-1.096)	1.126 (1.025-1.237)	1.058 (0.989-1.133)	1.059 (0.880-1.274)	0.994 (0.834-1.186)	1.072 (1.000-1.148)
CO (1 ma/m³)	1.004 (0.047 1.363)	1 100 (1 062 1 220)	1,002 (0,005,1,210)	1 120 (1 012 1 200)	1 102 (1 016 1 104)	1 133 (0.035 1.305)	1 (57 (1 240 2 100)	1.061 (0.070 1.140)

(B)	Age group		Gender		Ra	ice	Season		
	≤16	≥65	Males	Females	Caucasian	Others	Warm	Cold	
SO_2 (5 µg/m³)	1.165 (1.033-1.314)	1.043 (0.947-1.149)	1.004 (0.920-1.096)	1.126 (1.025-1.237)	1.058 (0.989-1.133)	1.059 (0.880-1.274)	0.994 (0.834-1.186)	1.072 (1.000-1.148)	
CO (1 mg/m³)	1.094 (0.947-1.263)	1.188 (1.063-1.328)	1.092 (0.985-1.210)	1.129 (1.012-1.260)	1.102 (1.016-1.194)	1.132 (0.925-1.385)	1.657 (1.248- 2.199)	1.061 (0.979-1.149)	
NO ₂ (10 μg/m³)	0.998 (0.973-1.024)	1.019 (1.000-1.038)	1.001 (0.984-1.019)	1.014 (0.995-1.033)	1.010 (0.996-1.024)	0.985 (0.950-1.021)	1.020 (0.992-1.049)	1.000 (0.985-1.015)	
$O_3 (10 \mu g/m^3)$	0.967 (0.919-1.016)	0.983 (0.952-1.014)	0.980 (0.950-1.010)	1.017 (0.984-1.050)	0.982 (0.958-1.006)	1.104 (1.035-1.177)	1.005 (0.974-1.038)	0.986 (0.955-1.018)	
PM ₁₀ (10 μg/m³)	1.016 (0.988-1.045)	1.017 (0.995-1.039)	1.012 (0.993-1.032)	1.011 (0.989-1.033)	1.011 (0.996-1.027)	1.009 (0.966-1.054)	1.081 (1.008-1.159)	1.007 (0.992-1.022)	
PM _{2.5} (10 μg/m³)	1.008 (0.977-1.041)	1.019 (0.995-1.043)	1.010 (0.988-1.033)	1.002 (0.978-1.027)	1.008 (0.991-1.026)	0.988 (0.942-1.037)	1.101 (1.018-1.190)	1.002 (0.985-1.019)	
C6H6 (2.6 mg/m³)	1.019 (0.906-1.146)	1.046 (0.954-1.147)	0.957 (0.879-1.043)	1.053 (0.963-1.153)	1.021 (0.955-1.090)	0.857 (0.718-1.024)	1.095 (0.828-1.448)	0.989 (0.928-1.055)	
C_7H_8 (7.96 mg/m ³)	0.981 (0.882-1.091)	1.038 (0.959-1.124)	0.967 (0.897-1.042)	1.035 (0.955-1.121)	0.994 (0.937-1.053)	0.991 (0.849-1.157)	1.055 (0.898-1.239)	0.978 (0.922-1.038)	
C_8H_{10} (4.24 mg/m ³)	0.964 (0.877-1.060)	1.019 (0.947-1.097)	0.964 (0.900-1.033)	1.013 (0.942-1.090)	0.990 (0.938-1.045)	0.928 (0.806-1.068)	1.204 (0.994-1.459)	0.959 (0.909-1.012)	

KEY: Results are expressed as Odds Ratio (OR) and corresponding 95% confidence intervals (95% CI) with (A) various pollutants at various lags and (B) in various subgroups at lag 0–2 from conditional logistic regression analysis including terms for daily weather variables (1-day lag for temperature, humidity and temperature squared).

Table 6 Association of ERAs and COPD exacerbation

(A)	lag 0	lag 1	lag 2	lag 3	lag 4	lag 5	lag 0-2	↑ 3 of 5 days
SO ₂ (5 μg/m³)	1.035 (0.951-1.127)	1.105 (1.015-1.203)	1.121 (1.031-1.218)	1.116 (1.028-1.210)	1.058 (0.973-1.150)	1.085 (1.002-1.176)	1.144 (1.027-1.274)	1.092 (0.936-1.274)
CO (1 mg/m³)	1.145 (1.019-1.286)	1.229 (1.100-1.373)	1.114 (0.994-1.249)	1.087 (0.969-1.219)	1.106 (0.984-1.243)	1.049 (0.937-1.174)	1.236 (1.080-1.415)	1.108 (0.952-1.289)
NO ₂ (10 μg/m³)	1.008 (0.989-1.026)	1.033 (1.015-1.053)	1.014 (0.996-1.033)	1.016 (0.998-1.034)	1.005 (0.988-1.023)	1.004 (0.987-1.021)	1.029 (1.005-1.052)	1.157 (1.023-1.309)
O ₃ (10 μg/m³)	0.987 (0.961-1.013)	0.957 (0.926-0.989)	0.960 (0.933-0.987)	0.969 (0.945-0.993)	0.969 (0.947-0.993)	0.985 (0.963-1.008)	0.944 (0.908-0.982)	0.864 (0.701-1.065)
PM ₁₀ (10 μg/m³)	1.022 (1.001-1.044	1.028 (1.006-1.049)	1.023 (1.001-1.045)	1.013 (0.993-1.035)	1.017 (0.997-1.038)	1.017 (0.997-1.037)	1.036 (1.010-1.063)	1.213 (1.046-1.407)
PM _{2.5} (10 μg/m³)	1.017 (0.992-1.042)	1.023 (0.999-1.048)	1.023 (0.999-1.048)	1.015 (0.992-1.039)	1.023 (1.000-1.046)	1.020 (0.998-1.043)	1.031 (1.001-1.062)	1.096 (0.950-1.265)
C_6H_6 (2.6 mg/m ³)	1.015 (0.926-1.111)	1.082 (0.991-1.182)	1.047 (0.957-1.145)	1.008 (0.923-1.100)	0.989 (0.903-1.084)	0.994 (0.911-1.084)	1.076 (0.962-1.203)	1.096 (0.937-1.283)
C_7H_8 (7.96 mg/m³)	0.997 (0.924-1.076)	1.082 (1.004-1.166)	1.031 (0.955-1.113)	1.021 (0.948-1.099)	0.970 (0.899-1.046)	0.961 (0.894-1.034)	1.061 (0.963-1.170)	0.935 (0.800-1.092)
C_8H_{10} (4.24 mg/m ³)	1.046 (0.981-1.116)	1.083 (1.016-1.155)	1.051 (0.986-1.120)	1.029 (0.967-1.095)	0.988 (0.928-1.051)	0.948 (0.892-1.009)	1.112 (1.019-1.212)	0.995 (0.868-1.141)

(B)	Age group		Gender		Ra	ice	Season	
-	≤16	≥65	Males	Females	Caucasian	Others	Warm	Cold
SO ₂ (5 μg/m³)		1.095 (0.975-1.231)	1.193 (1.036-1.375)	1.077 (0.911-1.273)	1.139 (1.017-1.274)	1.227 (0.828-1.817)	0.905 (0.678-1.209)	1.205 (1.071-1.356)
CO (1 mg/m³)		1.205 (1.041-1.395)	1.346 (1.128-1.607)	1.092 (0.886-1.348)	1.155 (1.003-1.330)	3.124 (1.845-5.289)	1.745 (1.024 2.975)	1.144 (0.990-1.323)
NO ₂ (10 μg/m³)		1.028 (1.003-1.054)	1.035 (1.005-1.066)	1.019 (0.983-1.056)	1.022 (0.998-1.047)	1.147 (1.048-1.256)	1.070 (1.016-1.126)	1.012 (0.985-1.039)
$O_3 (10 \mu g/m^3)$		0.945 (0.905- 0.986)	0.892 (0.845-0.941)	1.009 (0.952-1.069)	0.956 (0.918- 0.997)	0.820 (0.714 -0.942)	0.973 (0.921-1.028)	0.916 (0.864 (0.970)
PM ₁₀ (10 μg/m³)		1.029 (1.000-1.058)	1.049 (1.015-1.085)	1.017 (0.977-1.059)	1.036 (1.008-1.064)	1.127 (1.017-1.248)	1.133 (0.991-1.295)	1.027 (1.000-1.054)
PM _{2.5} (10 μg/m³)		1.025 (0.992-1.058)	1.043 (1.004-1.083)	1.013 (0.967-1.061)	1.034 (1.002-1.066)	1.115 (0.995-1.251)	1.108 (0.950-1.293)	1.024 (0.993-1.055)
C_6H_6 (2.6 mg/m ³)		1.070 (0.948-1.208)	1.120 (0.968-1.297)	1.016 (0.855-1.208)	1.078 (0.960-1.210)	1.443 (0.914 2.276)	0.991 (0.587-1.675)	1.065 (0.949-1.195)
C_7H_8 (7.96 mg/m ³)		1.054 (0.948-1.172)	1.111 (0.978-1.263)	0.994 (0.855-1.156)	1.051 (0.949-1.163)	1.478 (0.998 2.188)	0.886 (0.628-1.250)	1.054 (0.950-1.169)
C_8H_{10} (4.24 mg/m ³)		1.069 (0.972-1.177)	1.166 (1.041-1.306)	1.037 (0.907-1.186)	1.041 (0.947-1.144)	1.908 (1.421 2.563)	0.959 (0.664-1.384)	1.085 (0.989-1.191)

KEY: Results are expressed as Odds Ratio (OR) and corresponding 95% confidence intervals (95% CI) with (A) various pollutants at various lags and (B) in various subgroups at lag 0–2 from conditional logistic regression analysis including terms for daily weather variables (1-day lag for temperature, humidity and temperature squared).

respiratory infections and living in an air-polluted area [23]. In our study, there were nearly 23000 subjects \leq 16 years of age who presented with URTIs, and approximately 20% of these subjects were non-EU members. The high number of URTIs among children was the same finding of the previous study performed in Southwest Milan where CO and NO₂ played a principle role during acute pollutant exposure [14]. The high number of these patients has socioeconomic repercussions on the health system (e.g. higher costs in terms of human and instrumental resources) and on the management of emergency departments.

COPD and asthma: environmental and biological considerations

Unlike URTIs, COPD and asthma can have serious complications, so more detailed considerations should be made. Approximately 25% of COPD exacerbations are likely due to non-infectious causes [24]. Air pollution may be one of the main non-infectious triggers of COPD exacerbations. Anderson et al. demonstrated in a previous study that air pollution was associated to daily hospital admissions for COPD with an increase of 50 μg/m³ in daily mean level of pollutant (SO2, black smoke and total suspended particulates) [12]. Interesting at this point, is the fact that the mean increase values of pollutant we considered were different from that used by APHEA Project and appear lower (Table 6). In particular, our study showed that ERAs for COPD exacerbation significantly increased with an acute exposure at lag 0-2, to CO (23%), SO₂ (14%), PM₁₀ (3.6%) and PM_{2.5} (3%). Only PM₁₀ displayed a significant association at lag 3-5 (OR 1.21), indicating that the effect of PM₁₀ is linked to cumulative and acute exposure. Of the considered pollutants, the effect of CO on COPD exacerbations should be carefully noted. COPD is more common in older men [25]. In fact, our data demonstrated that for a 1 mg/m³ increase of CO there was a 20% increase in ERAs for COPD exacerbations in patients over 65. Patients older than 75 had the highest number of ERAs and 72% (1326) of them were ultimately hospitalised. There were differences in the effects of CO on ERAs by race. However, for PM₁₀ exposure there was an increased risk of ERAs (OR 1.12) in non-White subjects, which could be due to poor living conditions or to higher outdoor exposure during the cold seasons. Moreover, our data show that CO levels appear to play a major role in COPD exacerbations during the warm season. This finding follows an acute exposition pattern: in the presence of a 1 mg/m³ increase of CO there was a significant increase (OR 1.74) in ERAs for COPD exacerbations. This is likely the result of high outdoor exposure during the spring and summer, as people are more likely to walk outside. However, in our study considering the multipollutant model (Table 1),

CO was an environmental agent with increased levels throughout the year. As the CO represents one of the major components of diesel exhaust, coming from vehicular traffic, the chance that subjects could be exposed to this pollutant are high. Subsequently, CO triggers the start of the complex proinflammatory cascade in the airways [26]. The latter observation has been demonstrated in a recent study too, where the authors reported that an exposure to major urban streets increases the cell oxidative stress [27]. Lung inflammation in COPD is also related to lipid cell membrane peroxidation [28,29], so the previous evidence appears in line with our data and may explain the possible increase in COPD bronchial inflammation during exposure to pollutants. Moreover, interesting too SO₂ appears to play a role in increasing ERAs for COPD exacerbations (OR 1.20). The toxic effects of SO₂ on the respiratory tract have been demonstrated in experimental studies [30]. It is likely that SO₂, PM₁₀, cold air and a variety of hydrated metal ions contribute to airways cytotoxicity, inflammation and mucociliary clearance dysfunction [31,32]. This process could be responsible for the 1159 ERAs that occurred during the cold season, which represent 63% of all COPD ERAs in our study.

Asthma is an inflammatory disease sensible to a number of substances and environmental factors [33]. Increased bronchial reactivity to O₃ may contribute to inflammation or airway injury [34]. In more recent studies, high ozone levels were associated with ERAs for asthma during the warm season [35] a finding that has been confirmed by our data. In fact, we also observed the association of ERAs for asthma with a 5 µg/m³ increase in O_3 in any lag, though the findings were more striking with a prolonged exposure (OR 1.78). Our result goes with that by Colais P. et al. and confirms an important role of ozone in inducing an effect on asthmatics airways with a deleterious short impact of air pollution on respiratory morbidity in Italian cities [13]. The stronger associations shown between O3 levels and ERAs during the warm season among men and women are consistent with previous findings [35]. The rate of ERAs for asthma in the general population rises by 42% during the cold season and this increase can be attributed to viral infections or to an interaction of infectious and environmental factors. We can presume that during the warm season there are fewer competing causes of asthma exacerbation. Indeed, even the triggers for these apparent seasonal differences are not clear. We can speculate that, younger patients, who represented approximately 60% of our asthma admissions, are more responsive to air pollutants when they occur simultaneously with hot temperatures, high humidity and other meteorological factors. Additionally, the personal pollutant exposure could increase in the spring and summer due to the desire to remain outside for longer periods.

Pneumonia: public health and biological considerations

Finally, we analysed the rates of ERAs for pneumonia, an important cause of hospitalisation, morbidity and mortality among adults over 65 years of age [36]. Our data suggest that the main pollutants significantly associated with ERA for pneumonia were CO, SO₂, PM_{2.5} and PM₁₀. During the cold season only sulphur dioxide could be related to increased admissions for pneumonia, and these data appear to be in line with that of Martins et al. [37]. This data appears to be contradictory, but can be explained with the tendency of the population to stay in their homes during cold season thus so reducing outdoor exposition. As the SO₂ showed to be a highly reactive pollutant [30], probably even a short exposure may be able to lead a lung immunosuppressive pathway with a consequent increase of airway infections. PM_{2.5} is a traffic pollutant that has been examined as a risk factor for pneumonia, and our data agree with a study by Zanobetti et al. [38], which demonstrated an association between PM_{2.5} and hospital admissions for pneumonia in an elderly population. Our study population was not limited to older adults, who made up (only) the 48% of the total number of pneumonia ERAs, while the remaining population was represented by subjects less than 65 years old. Moreover, 68% (3888) of those with pneumonia ERAs required hospitalisation and 71% of them were over 65. These data emphasize what has been reported in literature [36,38], that the elderly may be more susceptible to pollution. Paradoxically, the OR is more impressive for pneumonia ERAs during the warm season, a finding that has been observed in previous studies [38]. These pollutants probably priming a cellular and molecular activation of airways with consequent proinflammatory and immuno-suppressant activity [30]. Furthermore, the elderly are more likely to walk outside in warm weather where they are exposed to pollutants. Pollutants act by causing bronchoalveolar irritation and inflammation [39] a common pathway in all (of) the respiratory diseases.

Conclusions

Our study confirms the association between exposure to pollutants and ERAs for respiratory diseases in a large northern Italian town, based on over two years of systematic data collection. We found health effects in both the young and the elderly, even at the low levels normally found in the general environment. Our data demonstrated that in multipollutant models combined exposure to CO emissions and PM_{10} level were particularly notable, but when the single pollutant models are considered other environmental agents gain relevance. So, Milan environmental management should take all this data into account. The consequences of exposure to pollutants are relevant from both a medical and a social

perspective, also in view of the direct costs. We must consider the direct costs of providing treatment for these diseases and the indirect costs due to lost productivity.

Abbreviations

ERA: Emergency room admission; COPD: Chronic obstructive pulmonary disease; O_3 : Ozone; CO: Carbon monoxide; SO_2 : Sulphur dioxide; NO_2 : Nitrate dioxide; NO_X : Nitrogen oxides; PM: Particulate metter; ED: Emergency department; URTI: Upper respiratory tract Infection; ARPA: Regional environmental protection agency; UV: Ultra Violet; IR: Infra-red; TEOM: Tapered element oscillating microbalance; OR: Odds ratio; CI: Confidence interval; C_6H_6 : Benzene; C_7H_8 : Toluene; C_8H_{10} : Xylene.

Competing interests

The authors declare that they have no competing interests.

Authors' contributions

PS has made study design, data analysis, literature search, data interpretation, writing manuscript. EM has made study design, data analysis, literature search, data interpretation, correcting manuscript. AR has made study design, data analysis, statistical analysis, literature search, data interpretation, writing manuscript. LA has made study design, correcting manuscript. FB has made study design, data analysis, data interpretation, correcting manuscript. SC has made study design, data analysis, data interpretation, correcting manuscript. AM has made study design, correcting manuscript. GS has made study design, correcting manuscript. SA has made study design, data analysis, literature search, data interpretation, correcting manuscript. All authors read and approved the final manuscript.

Acknowledgements

We thank Mara Segalini, Katia Santamaria and Patrizia di Benedetto for their editorial assistance. The POEMI project was partially funded by the Municipality of Milan.

POEMI project study Group: Villani M, (Ospedale A.O. San Carlo Borromeo, Milan Italy), Monzani V, Tarsia P, (IRCCS Fondazione Ospedale Maggiore Cà Granda, Milan Italy), Verga M, Radovanovic D, (A.O. San Paolo, Milan Italy), Bevilacqua L, (A.O. Niguarda Ca'Granda, Milan Italy), Bedogni M, Villavecchia B, (Agenzia Mobilità e Ambiente e Territorio, Comune di Milano, Italy), Landi di Chiavenna GP, Favini P, (Assessorato alla Salute, Comune di Milano, Italy).

Author details

¹Dipartimento Cardio-Respiratorio, Unità Operativa di Pneumologia, San Carlo Borromeo Hospital, Via Pio II, 3, 20153 Milan, Italy. ²Unità di Epidemiologia e Biostatistica, San Carlo Borromeo Hospital, Milan, Italy. ³Dipartimento Fisiopatologia Medico-Chirurgica, Università degli Studi di Milano, IRCCS Fondazione Ospedale Maggiore Cà Granda, Milan, Italy. ⁴Dipartimento di Scienze della Salute, Università degli Studi di Milano, Respiratory Unit, San Paolo Hospital, Milan, Italy. ⁵Divisione di Medicina Interna e Pneumologia, Fatebenefratelli Hospital, Milan, Italy. ⁶Struttura Complessa di Pneumologia, Niguarda Ca' Granda Hospital, Milan, Italy. ⁷Pneumologia Riabilitativa, Fondazione Salvatore Maugeri, Istituto Scientifico di Riabilitazione di Milano, IRCCS, Milan, Italy.

Received: 20 June 2012 Accepted: 15 October 2012 Published: 18 October 2012

References

- Anenberg SC, Schwartz J, Shindell D, Amann M, Faluvegi G, Klimont Z, et al: Global air quality and health co-benefits of mitigating near-term climate change through methane and black carbon emission controls. Environ Health Perspect 2012, 120:831–839.
- Wang T, Li GX, Sun J, Buys N, Liu HM, Liu MF, et al: Association between ambient particulate matter and daily cause-specific mortality in Tanguu, Tianjin, Binhai New Area, China. Int J Environ Health Res 2012, Epub ahead of print.
- 3. Kesavachandran C, Pangtey BS, Bihari V, Fareed M, Pathak MK, Srivastava AK, et al: Particulate matter concentration in ambient air and its effects on lung functions among residents in the National Capital Region, India. Environ Monit Assess 2012. Epub ahead of print.
- Dockery DW: Health effects of particulate air pollution. Ann Epidemiol 2009, 19:257–263.

- Luginaah IN, Fung KY, Gorey KM, Webster G, Wills C: Association of ambient air pollution with respiratory hospitalization in a Governmentdesignated "Area of Concern": The case of Windsor, Ontario. Environ Health Perspect 2005, 11:3290–296.
- Zanobetti A, Schwartz J, Dockery DW: Airborne particles are a risk factor for hospital admission for heart and lung disease. Environ Health Perspect 2000, 108:1071–1077.
- Seaton A, MacNee W, Donaldson K, Godden D: Particulate air pollution and acute health effects. Lancet 1995, 345:176–178.
- Watt M, Godden D, Cherrie J, Seaton A: Individual exposure to particulate air pollution and its relevance to thresholds for health effects: a study of traffic wardens. Occup Environ Med 1995, 52:790–792.
- Sly PD, Flack F: Susceptibility of children to environmental pollutants. Ann N Y Acad Sci 2008, 1140:163–183.
- Ye F, Piver WT, Ando M, Portier C: Effects of temperature and air pollutants on cardiovascolar and respiratory diseases for males and females older than 65years of age in tokyo, July and August 1980–1995. Environ Health Perspect 2001, 109:355–359.
- O'Neil MS, Zanobetti A, Scwartz J: Modifiers of the temperature and mortality association in seven US Cities. Am J Epidemiol 2003, 157:1074–1082.
- Anderson HR, Spix C, Medina S, Schouten YP, Castellsague J, Rossi G, et al: Air pollution and daily admissions for chronic obstructive pulmonary disease in 6 European cities: results from the APHEA Project. Eur Respir J 1997, 10:1064–1071.
- Colais P, Serinelli M, Faustini A, Stafoggia M, Randi G, Tessari R, et al: Air pollution and urgent hospital admissions in nine Italian cities. Results of the EpiAir Project. Epidemiol Prev 2009, 33:77–94.
- Giovannini M, Sala M, Riva E, Radaelli G: Hospital admissions for respiratory conditions in children and outdoor air pollution in Southwest Milan, Italy. Acta Pediatr 2010, 99:1180–1185.
- Tramuto F, Cusimano R, Cerame G, Vultaggio M, Calmusa G, Maida CM, et al: Urban air pollution and emergency room admissions for respiratory symptoms: a case-crossover study in Palermo, Italy. Environ Health 2011, 10:31.
- Robine JM, Cheung SL, Le Roy S, Van Oyen H, Griffiths C, Michel JP, et al: Death toll exceeded 70,000 in Europe during the summer of 2003. C R Biol 2008, 331:171–178.
- 17. Crutzen PJ, Lawrence MG, Poschl U: On the background photochemistry of tropospheric ozone. *Tellus* 1999, **51A**:123–146.
- Maclure M: The case-crossover design: a method for studying transient effects on the risk of acute events. Am J Epidemiol 1991, 133:144–153.
- Levy D, Lumley T, Sheppard L, Kaufman J, Lumley T, Koenig J, et al: Referent selection in case-crossover analyses of acute health effects of air pollution. Epidemiology 2001, 12:186–192.
- Cristofanelli P, Bonasoni P: Background ozone in the southern Europe and Mediterranean area: influence of the transport processes. Environ Pollut 2009. 157:1399–1406.
- U.S. Environmental Protection Agency: National Air Quality and Emission Trends Report. In Office of Air Quality Planning and Standards. Edited by U.S. Environmental Protection Agency. North Caroline: Research Triangle Park; 1991. 27711, 450-R-92-001.
- Lelieveld J, Berresheim H, Borrrmann S, Crutzen PJ, Dentener FJ, Fischer H, et al: Global air pollution crossroads over the Mediterranean. Science 2002. 298:794–799.
- Jaakkola JJK, Paunio M, Virtanen M, Heinonen OP: Low-Level air pollution and upper respiratory infections in children. Am J Public Health 1991, 81:1060–1063.
- 24. Hurst JR: Exacerbation Phenotyping in chronic obstructive pulmonary disease. *Am J Respir Crit Care Med* 2011, **184**:625–626.
- Rabe KF, Hurd S, Anzueto A, Barnes PJ, Buist SA, Calverley P, et al: Global strategy for the diagnosis, management, and prevention of chronic obstructive pulmonary disease: GOLD executive summary. Am J Respir Crit Care Med 2007, 176:532–555.
- Ghio AJ, Smith CB, Madden MC: Diesel exhaust particles and airway inflammation. Curr Opin Pulm Med 2012, 18:144–150.
- Boogaard H, Janssen NAH, Fischer PH, Kos GPA, Weijers EP, Cassee FR, et al: Contrasts in Oxidative potential and other particulate matter characteristics collected near major streets and background locations. Environ Health Perspect 2012, 120:185–191.
- Santus P, Sola A, Carlucci P, Fumagalli F, Di Gennaro A, Mondoni M, et al: Lipid peroxidation and 5-lipoxygenase activity in Chronic Obstructive Pulmonary Disease subjects. Am J Respir Crit Care Med 2005, 171:838–843.

- Braido F, Riccio AM, Guerra L, Gamalero C, Zolezzi A, Tarantini F, et al: Clara cell 16 protein in COPD sputum: A marker of small airways damage? Respir Med 2007, 101:2119–2124.
- American Thoracic Society: What constitutes an adverse health effect of air pollution? Am J Respir Crit Care Med 2000, 161:665–673.
- Hatch GE, Boykin E, Graham JA, Lewtas J, Pott F, Loud K, et al: Inhalable particles and pulmonary host defense: in vitro and in vivo effects of ambient air and combustion particles. Environ Res 1985, 36:67–80.
- McJilton C, Frank R, Charlson R: Role of relative humidity in the synergistic effect of sulfure dioxide aerosol mixture on the lung. Science 1973, 182:503–504.
- Bateman ED, Hurd SS, Barnes PJ, Bousquet J, Drazen JM, FitzGerald M, et al: Global strategy for asthma management and prevention: GINA executive summary. Eur Respir J 2008, 31:143–178.
- Lee L-Y, Widdicombe JG: Modulation of airway sensitivity to inhaled irritants: role of inflammatory mediators. Environ Health Perspect 2001, 109(Suppl. 4):585–589.
- Strickland MJ, Darrow LA, Klein M, Flanders WD, Sarnat JA, Waller LA, et al. Short-term associations between ambient air pollutants and pediatric asthma emergency department visits. Am J Respir Crit Care Med 2010, 182:307–316.
- Neupane B, Jerrett M, Burnett RT, Marrie T, Arain A, Loeb M: Long term exposure to ambient air pollution and risk of hospitalization with community-acquired pneumonia in older adults. Am J Respir Crit Care Med 2010. 181:47–53.
- Martins LC, Latorre-Mdo R, Cardoso MR, Goncalves FL, Saldiva PH, Braga AL: Air pollution and emergency room visits due to pneumonia and influenza in São Paulo, Brazil. Rev Saude Publica 2002, 36:88–94.
- 38. Zanobetti A, Schwartz J: Air pollution and emergency admissions in Boston, MA. J Epidemiol Community Health 2006, 60:890–895.
- Santus P, Lesma E, Carlucci P, Mondoni M, Radovanovic D, Di Marco F, et al: Correlation between inflammatory response and particulate metter in human lung. Preliminary data [abstract]. Eur Respir J 2010, 36(Suppl 54):p2539.

doi:10.1186/1465-9921-13-95

Cite this article as: Santus *et al.*: How air pollution influences clinical management of respiratory diseases. A case-crossover study in Milan. *Respiratory Research* 2012 **13**:95.

Submit your next manuscript to BioMed Central and take full advantage of:

- Convenient online submission
- Thorough peer review
- No space constraints or color figure charges
- Immediate publication on acceptance
- Inclusion in PubMed, CAS, Scopus and Google Scholar
- Research which is freely available for redistribution

Submit your manuscript at www.biomedcentral.com/submit

